

National Championships 2023

Statement of accounts

All 10 National Championships analysis- including pools

All 10 Nationals (2	2023)						
Income	Quantity	Amount	Total (£)	Expenditure	Quantity	Amount	Total (£)
Individual Pools			14 100	Individual Pools			14,100
Section Pools				Section Pools			26,715
Team Pools			,	Team Pools			17,350
Entry Fees				Peg Fees			11,974
Sponsorship				Venue Hire			950
				Parking			769
				Organiser's Fees			1,050
				Stewards Fees			2,760
				Prize money			12,785
				Medals & Trophies			2,014
				Travel, Accommodation & Meals			4,151
				Cava			300
				Media			2,567
				Miscellaneous			766
				CRT Licence Fee			228
TOTAL			103,945				98,479
Surplus(/Defecit)	5,466.38						
Please note that the ab	ove schedule in	cludes some	e estimated	costs as not all invoices have been	received.		



All 10 National Championships summary – excluding pools

National Champio	onships 20)23	
SUMMARY			
			Surplus
	Income	Expenditure	(Deficit)
Division 1	£11,500.00	£9,541.59	£1,958.41
Division 2	£9,000.00	£8,298.60	£701.40
FIPS qualifier Feeder National	£4,350.00	£4,660.08	-£310.08
FIPS qualifier Float National	£1,350.00	£1,825.92	-£475.92
Cadet, Junior & Youth	£2,790.00	£2,799.38	-£9.38
Ladies National	£1,830.00	£1,009.79	£820.21
Anglers with Disabilities	£840.00	£569.74	£270.26
Masters & Veterans	£3,750.00	£2,856.00	£894.00
Team Commercial Stillwater	£4,600.00	£3,537.45	£1,062.55
Individual	£3,270.00	£2,715.07	£554.93
TOTAL	£43,280.00	£37,813.62	£5,466.38



Division 1 National Championships – Gloucester Canal

Unaudited Incor	ne Stat	ement					
Division 1 National -	12/08/2	023					
Income	Quantity	Amount	Total (£)	Expenditure	Quantity	Amount	Total (£)
Individual Pools			4500	Individual Pools			4,500
Section Pools			9000	Section Pools			9,000
Team Pools			4800	Team Pools			4,800
Entry Fees (Teams of 10)	46	250	11500	Peg Fees			2,300
Sponsorship			0	Venue Hire			300
				Parking			248
				Organiser's Fees			250
				Stewards Fees	21	40	840
				Prize money			3,000
				Medals & Trophies			300
				Travel, Accommodation & Meals			1,378
				Cava			63
				Media			660
				Miscellaneous			203
				CRT Licence Fee			0
TOTAL			29,800				27,841.59
Surplus(/Defecit)	1,958.41						
All Pools money that was p	paid in is pa	id back out					
This report also excludes s	taff salaries	s and other	overheads	of the competitions team.			



Division 2 National Championships – Shropshire Union Canal and Trent & Mersey Canal

Unaudited Incor	ne Stat	ement					
Division 2 National -	09/09/2	023					
Income	Quantity	Amount	Total (£)	Expenditure	Quantity	Amount	Total (£)
Individual pools			3800	Individual Pools			3,80
Section pools			7650	Section Pools			7,65
Team pools			4900	Team Pools			4,90
Entry fees (Teams of 10)	36	250	9000	Peg Fees			1,80
Sponsorship			0	Venue Hire			500
				Parking			521
				Organiser's Fees			250
				Stewards Fees	23	40	920
				Prize money			2,450
				Medals & Trophies			172
				Travel, Accommodation & Meals			783
				Cava			65
				Media			706
				Miscellaneous			131
				CRT Licence Fee			(
TOTAL			25350				24,649
Surplus(/Defecit)	701.40						
All Pools money that was p	•						
Please note that the above	e schedule i	ncludes so	me estimat	ed costs as not all invoices have bee	en received	1.	
This report also excludes s	taff salaries	and other	overheads	of the competitions team.			



FIPS qualifier Feeder National Championships – Gloucester Canal

Unaudited Incor	ne stat	ement					
Feeder National - 05	5/08/202	3					
			Total				Total
Income	Quantity	Amount	(£)	Expenditure	Quantity	Amount	(£)
Individual pools			1,900	Individual Pools			1,900
Section pools			2,800	Section Pools			2,800
Team pools			2,400	Team Pools			2,400
Entry fees (Teams of 5)	29	150	4,350	Peg Fees	145	5	725
Sponsorship			0	Venue Hire			75
				Parking			
				Organiser's Fees			250
				Stewards Fees	12	40	480
				Prize money			1,500
				Medals & Trophies			119
				Travel, Accommodation & Meals			659
				Cava			38
				Media			701
				Miscellaneous			
				CRT Licence Fee			114
TOTAL			11,450				11,760
Surplus(/Defecit)	-310.08						
All Pools money that was	paid in is pa	id back out					
				s of the competitions team.			



FIPS qualifier Float National Championships – Gloucester Canal

Unaudited Incor	me Stat	ement					
Float National - 13/0	08/2023						
			Total				Total
Income	Quantity	Amount	(£)	Expenditure	Quantity	Amount	(£)
Individual pools			450	Individual Pools			45
Section pools			900	Section Pools			90
Team pools			900	Team Pools			90
Entry fees (Teams of 5)	9	150	1,350	Peg Fees	45	5	22
Sponsorship			0	Venue Hire			7
				Parking			
				Organiser's Fees			15
				Stewards Fees	5	40	20
				Prize money			
				Medals & Trophies			26
				Travel, Accommodation & Meals			29
				Cava			
				Media			50
				Miscellaneous			
				CRT Licence Fee			11
TOTAL			3,600				4075.92
Surplus(/Defecit)	-475.92						
All Pools money that was	paid in is pa	id back out					
				s of the competitions team.			



Cadet, Junior & Youth National Championships – Tunnel Barn Farm

Unaudited Inc	ome Stat	ement					
Cadet Junior & Yo	outh Nationa	l - 01 &	02/07/2	2023			
			Total				Total
Income	Quantity	Amount	(£)	Expenditure	Quantity	Amount	(£)
Individual pools			0	Individual Pools			(
Section pools			0	Section Pools			(
Team pools			0	Team Pools			C
Entry fees	31	90	2,790	Peg Fees	186	11	2046
Sponsorship			0	Venue Hire			C
				Parking			C
				Organiser's Fees			C
				Stewards Fees			C
				Prize money			C
				Medals & Trophies			753
				Travel, Accommodation & Meals			(
				Cava			(
				Media			C
				Miscellaneous			C
				CRT Licence Fee			C
TOTAL			2,790				2799.38
Surplus(/Defecit)	-9.38						
This report also exclud	es staff salaries	and other	overhead	Is of the competitions team.			



Ladies National Championships – Rookery Waters

Unaudited Inc	Lonne Stat	ement					
Ladies National -	08/07/2023			Expenditure			
Income	Quantity	Amount	Total (£)		Quantity	Amount	Total (£)
Individual pools			325	Individual Pools			32
Section pools			385	Section Pools			38
Team pools			200	Team Pools			20
Entry fees*			1,830	Peg Fees	54	9	48
Sponsorship			0	Venue Hire			(
				Parking			(
				Organiser's Fees			(
				Stewards Fees			(
				Prize money		190	190
				Medals & Trophies		81	8
				Travel, Accommodation & Meals		116	110
				Cava			2
				Media			(
				Miscellaneous			110
				CRT Licence Fee			0.0
TOTAL			2,740				1,920
Surplus (/Defecit)	820.21						
All Pools money that v	vas paid in is pa	id back out					
* 55 individual entries	@ £30 each and	9 teams @	£20 each				
				s of the competitions team.			



Anglers with Disabilities National Championships – Rookery Waters

Anglers with Disa	bilities Nati	onal - 08	3/07/20	23			
			Total				Total
Income	Quantity	Amount	(£)	Expenditure	Quantity	Amount	(£)
Individual pools			300	Individual Pools			300
Section pools			140	Section Pools			140
Team pools			0	Team Pools			(
Entry fees	28	30	840	Peg Fees	26	9	234
Sponsorship			0	Venue Hire			C
				Parking			C
				Organiser's Fees			C
				Stewards Fees			(
				Prize money			180
				Medals & Trophies			34.56
				Travel, Accommodation & Meals			115.69
				Cava			5.49
				Media			C
				Miscellaneous			C
				CRT Licence Fee			(
TOTAL			1280				1009.74
Surplus(/Defecit)	270.26						
All Pools money that w	vas paid in is pa	id back out					
				s of the competitions team.			



Masters & Veterans National Championships – Partridge Lakes

Unaudited Inc	ome Stat	ement					
Masters & Vetera	ns National	- 26/07	/2023				
			Total				Total
Income	Quantity	Amount	(£)	Expenditure	Quantity	Amount	(£)
Individual pools	116	5	580	Individual Pools			580
Section pools	116	5	580	Section Pools			580
Team pools			0	Team Pools			0
Entry fees	125	30	3,750	Peg Fees			1,318
Sponsorship			0	Venue Hire			(
				Parking			
				Organiser's Fees			C
				Stewards Fees			(
				Prize money			900
				Medals & Trophies			58
				Travel, Accommodation & Meals			295
				Cava			13
				Media			
				Miscellaneous			272
				CRT Licence Fee			
TOTAL			4,910				4,016
Surplus(/Defecit)	894						
All Pools money that w	vas paid in is pa	id back out					
This report also exclud	es staff salaries	and other	overhead	s of the competitions team.			



Team Commercial Stillwater National Championships – Lindholme Lakes

Unaudited Incon	ne Stat	ement					
Team Commercial St	illwater National - 29/04/20			/2023			
			Total				Total
Income	Quantity	Amount	(£)	Expenditure	Quantity	Amount	(£)
Individual pools			970	Individual Pools			97
Section pools			4,200	Section Pools			420
Team pools			4,150	Team Pools			415
Entry fees (Teams of 10)	23	200	4,600	Peg Fees	230	10	230
Sponsorship			2,500	Venue Hire			
				Parking			
				Organiser's Fees			
				Stewards Fees			
				Prize money			329
				Medals & Trophies			18
				Travel, Accommodation & Meals			19
				Cava			7
				Media			
				Miscellaneous			
				CRT Licence Fee			
TOTAL			16,420				15,357.45
Surplus(/Defecit)	1062.55						
All Pools money that was p	baid in is pa	id back out					
				of the competitions team.			



Individual National Championships – Shropshire Union Canal

Individual Nation	ai - 09/09/2	023					
			Total				Total
ncome	Quantity	Amount	(£)	Expenditure	Quantity	Amount	(£)
Individual pools			1275	Individual Pools			1,27
Section pools			1060	Section Pools			1,060
Team pools			0	Team Pools			(
Entry fees	109	30	3270	Peg Fees	108	5	540
Sponsorship			0	Venue Hire			(
				Parking			(
				Organiser's Fees			150
				Stewards Fees	8	40	320
				Prize money			1,275
				Medals & Trophies			50
				Travel, Accommodation & Meals			313
				Cava			17
				Media			C
				Miscellaneous			50
				CRT Licence Fee			(
ΓΟΤΑΙ			5605				5,050
Surplus(/Defecit)	554.93						
All Pools money that w	vas paid in is pa			ated costs as not all invoices have b			